
MATHS

BOOKS - MAXIMUM PUBLICATION

MATRICES

Example

1. Find the value of a,b and c from the

following equations, 

[
a − b 2a + c

2a − b 3c + d
] = [

−1 5

0 13
]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_atZf6wEhbkbT


Watch Video Solution

2. Simplify 

Watch Video Solution

cos x[
cos x sinx

−sinx cos x
] + sinx[

sinx −cos x

cos x sinx
]

3. Solve the equation for x,y,z and t, if 

Watch Video Solution

2[
x z

y t
] + 3[

1 −1

0 2
] = 3[

3 5

4 6
]

https://dl.doubtnut.com/l/_atZf6wEhbkbT
https://dl.doubtnut.com/l/_raoOVaqtrqJA
https://dl.doubtnut.com/l/_YbBqLiRKpQ8b


4. Find  if 

Watch Video Solution

A2 − 5A + 6I A =
⎡
⎢
⎣

2 0 1

2 1 3

1 −1 0

⎤
⎥
⎦

5. If  find k so that 

Watch Video Solution

A = [
3 −2

4 −2
]

A2 = kA − 2I

https://dl.doubtnut.com/l/_0WVVv3uGM3fp
https://dl.doubtnut.com/l/_zIKqipZ2SUSJ


6. Express  as the sum of a

symmetric and skew symmetric matrix.

Watch Video Solution

A =
⎡
⎢
⎣

−1 2 3

5 7 9

−2 1 1

⎤
⎥
⎦

7. Find the inverse of the following using

elementary transformations. 

Watch Video Solution

A = [
2 3

5 7
]

https://dl.doubtnut.com/l/_1Tns3iBsSipT
https://dl.doubtnut.com/l/_Ki4UEu16Sr7n


8. Find the inverse of the following using

elementary transformations. 

Watch Video Solution

A = [
2 1

7 4
]

9. Find the inverse of the following using

elementary transformations. 

Watch Video Solution

A = [
2 5

1 3
]

https://dl.doubtnut.com/l/_GfSldBlmOxQl
https://dl.doubtnut.com/l/_Pjwq8hrwTxge


10. Find the inverse of the following using

elementary transformations. 

Watch Video Solution

A = [
3 1

5 2
]

11. Find the inverse of the matrix

 using row transformation.

Watch Video Solution

A = [
2 3

−1 5
]

https://dl.doubtnut.com/l/_2XBkNMCBLsu0
https://dl.doubtnut.com/l/_rSUTfPgfch42


12.   


Find AB

Watch Video Solution

A =
⎡
⎢
⎣

2 3

4 5

2 1

⎤
⎥
⎦
B = [

1 −2 3

−4 2 5
]

13.   


If C is the matrix obtained from A by the

transformation  , find CB

Watch Video Solution

A =
⎡
⎢
⎣

2 3

4 5

2 1

⎤
⎥
⎦
B = [

1 −2 3

−4 2 5
]

R1 → 2R1

https://dl.doubtnut.com/l/_zsuwYYnJnQVO
https://dl.doubtnut.com/l/_pk0XX7vcLqFs


14. Construct a  matrix whose elements

are given by 

Watch Video Solution

3 × 4

aij =
|−3i + j|

2

15. construct a  matrix whose elements

are given by 

Watch Video Solution

3 × 4

aij = 2i + j

https://dl.doubtnut.com/l/_5TUqjY81894p
https://dl.doubtnut.com/l/_E6La7SYJk6EE
https://dl.doubtnut.com/l/_nWfW20N0vPwP


16. Express the following matrices as the sum

of a Symmetric and a Skew Symmetric matrix. 

Watch Video Solution

⎡
⎢
⎣

6 −2 2

−2 3 −1

2 −1 3

⎤
⎥
⎦

17. Express the following matrices as the sum

of a Symmetric and a Skew Symmetric matrix. 

Watch Video Solution

⎡
⎢
⎣

3 3 −1

−2 −2 1

−4 −5 2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_nWfW20N0vPwP
https://dl.doubtnut.com/l/_snWQz9QKGC12


18. IF , 


Find  .

Watch Video Solution

A =
⎡
⎢
⎣

2 4 3

1 0 6

0 −2 −3

⎤
⎥
⎦

3A

19. IF , 


Find 

Watch Video Solution

A =
⎡
⎢
⎣

2 4 3

1 0 6

0 −2 −3

⎤
⎥
⎦

AT

https://dl.doubtnut.com/l/_snWQz9QKGC12
https://dl.doubtnut.com/l/_PKQ3jhq7vQlR
https://dl.doubtnut.com/l/_Z4kK7zU7D8T8
https://dl.doubtnut.com/l/_VYDg9e4z58cd


20. IF , 


Evalute  , is it symmetric ? Justify your

answer.

Watch Video Solution

A =
⎡
⎢
⎣

2 4 3

1 0 6

0 −2 −3

⎤
⎥
⎦

A + AT

21. Consider the following statement : 

 for all 

Write  .

Watch Video Solution

P (n) :An = [
1 + 2n −4n

n 1 − 2n
] n ∈ N

P (1)

https://dl.doubtnut.com/l/_VYDg9e4z58cd
https://dl.doubtnut.com/l/_Q1gdvVjFMOpu


22. Consider the following statement : 

 for all 

If  is true, then show that  is

also true.

Watch Video Solution

P (n) :An = [
1 + 2n −4n

n 1 − 2n
] n ∈ N

P (k) P (k + 1)

23. Find the matrices A and B if 

 and 2A + 3B =
⎡
⎢
⎣

1 2 −1

0 2 1

1 2 4

⎤
⎥
⎦

A + 2B =
⎡
⎢
⎣

2 0 1

1 1 2

3 1 2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_sm6Ut6uJcjtj
https://dl.doubtnut.com/l/_VVDQkURNgA8C


Watch Video Solution

24. Construct a  matrix  where 

Watch Video Solution

3 × 3 A = [aij]

aij = 2(i − j)

25. Construct a  matrix  where 

 


Show that the matrix  is a skew symmetrics.

Watch Video Solution

3 × 3 A = [aij]

aij = 2(i − j)

A

https://dl.doubtnut.com/l/_VVDQkURNgA8C
https://dl.doubtnut.com/l/_HNCe79gBgx0t
https://dl.doubtnut.com/l/_iTCZE33a4BMv


26. Consider the following statement 

 for all 

 


Write  .

Watch Video Solution

P (n) :An = [
cos nθ sinnθ

−sinnθ cos nθ
]

n ∈ N

P (1)

27. Consider the following statement 

 for all 

 


P (n) :An = [
cos nθ sinnθ

−sinnθ cos nθ
]

n ∈ N

https://dl.doubtnut.com/l/_iTCZE33a4BMv
https://dl.doubtnut.com/l/_dLVZwUwpMWGb
https://dl.doubtnut.com/l/_JnPi1zpxZcUX


If  is true then show that  is

true

Watch Video Solution

P (k) P (k + 1)

28.  , then 


Find  and 

Watch Video Solution

A =
⎡
⎢
⎣

1 2 2

2 1 2

2 2 1

⎤
⎥
⎦

4A A2

https://dl.doubtnut.com/l/_JnPi1zpxZcUX
https://dl.doubtnut.com/l/_vCfBI6mrn0Gh


29.  , then show that 

Watch Video Solution

A =
⎡
⎢
⎣

1 2 2

2 1 2

2 2 1

⎤
⎥
⎦

A2 − 4A = 5I3

30. Let  and  


Find  and 

Watch Video Solution

A = [
2 1 3

4 1 0
] B =

⎡
⎢
⎣

1 −1

0 2

5 0

⎤
⎥
⎦

AT BT

https://dl.doubtnut.com/l/_nrllXWp1rebS
https://dl.doubtnut.com/l/_Yt6jPTInLco4


31. Let  and  


Find 

Watch Video Solution

A = [
2 1 3

4 1 0
] B =

⎡
⎢
⎣

1 −1

0 2

5 0

⎤
⎥
⎦

AB

32. Let  and  


Show that 

Watch Video Solution

A = [
2 1 3

4 1 0
] B =

⎡
⎢
⎣

1 −1

0 2

5 0

⎤
⎥
⎦

(AB)T = BTAT

https://dl.doubtnut.com/l/_qeV9CW7EESeD
https://dl.doubtnut.com/l/_SJKTExbtl9Ro


33.  Express A as the sum

of a symmetric and skew symmetric matrix.

Watch Video Solution

A =
⎡
⎢
⎣

1 −3 1

2 0 4

1 2 −2

⎤
⎥
⎦

34. Consider a  matrix  , 


where  . 


Write the transpose of  .

Watch Video Solution

2 × 2 A = [aij]

aij =
(i + j)

2

2

A

https://dl.doubtnut.com/l/_eN7Wc71H2JGd
https://dl.doubtnut.com/l/_e5uH5g7oSw8a
https://dl.doubtnut.com/l/_tqS36e3PT8Ok


35. Consider a  matrix  , 


where  . 


Show that  is a symmetric.

Watch Video Solution

2 × 2 A = [aij]

aij =
(i + j)2

2

A

36.  is a matrix 


What is the order of  .

Watch Video Solution

A = [
6 5

7 6
]

A

https://dl.doubtnut.com/l/_tqS36e3PT8Ok
https://dl.doubtnut.com/l/_JuGQQdRdzV5h


37.  is a matrix 


Find  and  .

Watch Video Solution

A = [
6 5

7 6
]

A2 12A

38.  is a matrix 


 , find  .

Watch Video Solution

A = [
6 5

7 6
]

f(x) = x2 − 12x + 1 f(A)

https://dl.doubtnut.com/l/_UUVAJ4zItmzd
https://dl.doubtnut.com/l/_b77aOU44bX0n


39. Let  ,  , 

 


Find each of the folowing 

 , 

Watch Video Solution

A = [
2 4

3 2
] B = [

1 3

−2 5
]

C = [
−2 5

3 4
]

A + B A − B

40. Let  ,  , 

 


Find each of the folowing 

A = [
2 4

3 2
] B = [

1 3

−2 5
]

C = [
−2 5

3 4
]

3A − C

https://dl.doubtnut.com/l/_uPIsxZgl6BAv
https://dl.doubtnut.com/l/_tPCgQcR4nNsb


Watch Video Solution

41. Let  ,  , 

 


Find each of the folowing 

Watch Video Solution

A = [
2 4

3 2
] B = [

1 3

−2 5
]

C = [
−2 5

3 4
]

AB

42. Let  ,  , 

 


A = [
2 4

3 2
] B = [

1 3

−2 5
]

C = [
−2 5

3 4
]

https://dl.doubtnut.com/l/_tPCgQcR4nNsb
https://dl.doubtnut.com/l/_pkGRs0U0qrcc
https://dl.doubtnut.com/l/_WMTTXm8MrAOU


Find each of the folowing 

Watch Video Solution

BA

43. Let  ,  , 

 


Find  and 

Watch Video Solution

A = [
1 2

3 4
] B = [

2 1

4 5
]

C = [
1 −1

0 2
]

A + B A − B

https://dl.doubtnut.com/l/_WMTTXm8MrAOU
https://dl.doubtnut.com/l/_MUjjoZ67MVpI


44. Let  ,  , 

 


Show that 

Watch Video Solution

A = [
1 2

3 4
] B = [

2 1

4 5
]

C = [
1 −1

0 2
]

(A + B) + C = A + (B + C)

45. Let  ,  , 

 


Find  and 

Watch Video Solution

A = [
1 2

3 4
] B = [

2 1

4 5
]

C = [
1 −1

0 2
]

AB BA

https://dl.doubtnut.com/l/_AqpIcJSVX2he
https://dl.doubtnut.com/l/_yE37Efp4ZQSi


46.  ,  


What is the order of matrix  ?

Watch Video Solution

A = [
−1 0 2

4 0 −3
] B =

⎡
⎢
⎣

0 2

−1 3

0 4

⎤
⎥
⎦

AB

47.  ,  


Find  , 

Watch Video Solution

A = [
−1 0 2

4 0 −3
] B =

⎡
⎢
⎣

0 2

−1 3

0 4

⎤
⎥
⎦

AT BT

https://dl.doubtnut.com/l/_6rslOVaEWBds
https://dl.doubtnut.com/l/_ydlzUiOlFzTt


48.  ,  


Verify 

Watch Video Solution

A = [
−1 0 2

4 0 −3
] B =

⎡
⎢
⎣

0 2

−1 3

0 4

⎤
⎥
⎦

(AB)T = BTAT

49. Let   


Find  .

Watch Video Solution

A = [
1 2 −3

2 1 −1
] B =

⎡
⎢
⎣

2 3

5 4

1 6

⎤
⎥
⎦

AB

https://dl.doubtnut.com/l/_4WbYrYC8cMfa
https://dl.doubtnut.com/l/_s1ainjOK9e82


50. Let   


Find  ,  & 

Watch Video Solution

A = [
1 2 −3

2 1 −1
] B =

⎡
⎢
⎣

2 3

5 4

1 6

⎤
⎥
⎦

AT BT (AB)T

51. Let   


Verify that 

Watch Video Solution

A = [
1 2 −3

2 1 −1
] B =

⎡
⎢
⎣

2 3

5 4

1 6

⎤
⎥
⎦

(AB)T = BTAT

https://dl.doubtnut.com/l/_lGtqZeCfYHV6
https://dl.doubtnut.com/l/_iHglv75bo55h


52. If   


Find  , 

Watch Video Solution

A =
⎡
⎢
⎣

−2

4

5

⎤
⎥
⎦
B = [ 1 3 6 ]

AT BT

53. If   


Find 

Watch Video Solution

A =
⎡
⎢
⎣

−2

4

5

⎤
⎥
⎦
B = [ 1 3 6 ]

(AB)T

https://dl.doubtnut.com/l/_goO00cyBNdYH
https://dl.doubtnut.com/l/_DyfmtNGBxpPz


54. If   


Watch Video Solution

A =
⎡
⎢
⎣

−2

4

5

⎤
⎥
⎦
B = [ 1 3 6 ]

(AB)T = BTAT

55. Let  


Find 

Watch Video Solution

A = [
3 1

−1 2
]

A2

https://dl.doubtnut.com/l/_nniYYQYGfxaJ
https://dl.doubtnut.com/l/_w3vdwtQkJaWb


56. Let  


Show that 

Watch Video Solution

A = [
3 1

−1 2
]

A2 − 5A + 7I = 0

57. Let  


find 

Watch Video Solution

A = [
3 1

−1 2
]

A− 1

https://dl.doubtnut.com/l/_Qa7lfKRM2WoP
https://dl.doubtnut.com/l/_8Hk1OOsqbkno


58. Let  


Solve the following equation using matrix :

 ,  .

Watch Video Solution

A = [
3 1

−1 2
]

3x + y = 1 −x + 2y = 2

59.  


Show that 

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3

3 −2 1

4 2 1

⎤
⎥
⎦

A3 − 23A − 40I = 0

https://dl.doubtnut.com/l/_tVLkz8SsyuVN
https://dl.doubtnut.com/l/_ygpE91wIKaXX
https://dl.doubtnut.com/l/_L0RX0DxvN0jo


60.  


Watch Video Solution

A =
⎡
⎢
⎣

1 2 3

3 −2 1

4 2 1

⎤
⎥
⎦

A− 1

61.  is a third order square matrix and 

 

Construct the matrix  .

Watch Video Solution

A

aij = {
− i + 2j if i = j

i × j if i ≠ j

A

https://dl.doubtnut.com/l/_L0RX0DxvN0jo
https://dl.doubtnut.com/l/_IDkJyvHcCjFH


62.  is a third order square matrix and 

 and 

 


Interpret the matrix  .

Watch Video Solution

A

aij = {
− i + 2j if i = j

i × j if i ≠ j

B =
⎡
⎢
⎣

2 1 1

1 1 5

1 5 2

⎤
⎥
⎦

A

63.  is a third order square matrix and 

 and 

A

aij = {
− i + 2j if i = j

i × j if i ≠ j

https://dl.doubtnut.com/l/_qutyq9VVWGbM
https://dl.doubtnut.com/l/_1ezWiiBzOwKl


 


Interpret the matrix  .

Watch Video Solution

B =
⎡
⎢
⎣

2 1 1

1 1 5

1 5 2

⎤
⎥
⎦

AB − BA

64. Find X and Y if 

 and 

Watch Video Solution

X + Y = [
7 0

2 5
] X − Y = [

3 0

0 3
]

https://dl.doubtnut.com/l/_1ezWiiBzOwKl
https://dl.doubtnut.com/l/_zAFfDfcDVAlf


65. Find X and Y if 

 and

Watch Video Solution

2X + 3Y = [
2 3

4 0
]

3X + 2Y = [
−2 2

−1 5
]

66. Find X if 

 

Watch Video Solution

Y = [
3 2

1 4
] 2X + Y = [

1 0

−3 2
]

https://dl.doubtnut.com/l/_lEiFIGm1AlU9
https://dl.doubtnut.com/l/_xajW6mJ5N2Tv


67. Given that  and 

 


Find .

Watch Video Solution

A + B = [
2 5

7 8
]

A − B = [
6 8

4 3
]

2A

68. Given that  and 

 


Find  .

Watch Video Solution

A + B = [
2 5

7 8
]

A − B = [
6 8

4 3
]

A2 − B2

https://dl.doubtnut.com/l/_jj93czCFWRTV
https://dl.doubtnut.com/l/_nYPVerKoySSy


69. Given that  and 

 find 

Watch Video Solution

A + B = [
2 5

7 8
]

A − B = [
6 8

4 3
] (A + B)(A − B)

70. Consider 

A=

Find x if ABC=0.

Watch Video Solution

[ 1 x 1 ], B =
⎡
⎢
⎣

1 3 2

2 5 1

15 3 2

⎤
⎥
⎦

, C =
⎡
⎢
⎣

1

2

x

⎤
⎥
⎦

https://dl.doubtnut.com/l/_etSUPj0R9jlS
https://dl.doubtnut.com/l/_GMGJYjptTlIC
https://dl.doubtnut.com/l/_wlCyCVjNygVS


71. Consider 

A=

Find x if ABC=0.

Watch Video Solution

[ 1 x 1 ], B =
⎡
⎢
⎣

1 3 2

2 5 1

15 3 2

⎤
⎥
⎦

, C =
⎡
⎢
⎣

1

2

x

⎤
⎥
⎦

72. Write A as the sum of a symmetric and a

skew symmetric matrix.

Watch Video Solution

A =
⎡
⎢
⎣

1 4 −1

2 5 4

−1 −6 3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_wlCyCVjNygVS
https://dl.doubtnut.com/l/_wLhcaa4e30kP


73. Consider the matrix 

  


Find 

Watch Video Solution

A =
⎡
⎢
⎣

2 1 3

2 3 1

1 1 1

⎤
⎥
⎦
B =

⎡
⎢
⎣

−1 2 3

−2 3 1

−1 1 1

⎤
⎥
⎦

A + B

74. Consider the matrix 

  


Find 

A =
⎡
⎢
⎣

2 1 3

2 3 1

1 1 1

⎤
⎥
⎦
B =

⎡
⎢
⎣

−1 2 3

−2 3 1

−1 1 1

⎤
⎥
⎦

(A + B)(A − B)

https://dl.doubtnut.com/l/_wLhcaa4e30kP
https://dl.doubtnut.com/l/_kB03KE63mJ0p
https://dl.doubtnut.com/l/_1KgzKMz7XhC8


Watch Video Solution

75. Given  . Find the inverse

of P by elementary row operation.

Watch Video Solution

P = [
2 −3

−1 2
]

76. Let  and 

 


Find 

Watch Video Solution

A = [
3 6 5

6 7 8
]

C = [
1 2 −3

4 5 6
]

2A

https://dl.doubtnut.com/l/_1KgzKMz7XhC8
https://dl.doubtnut.com/l/_FD7dd7b0uqhh
https://dl.doubtnut.com/l/_xbMAsmiTga4s


77. Let  and 

 


Find the matrix B such that 

Watch Video Solution

A = [
3 6 5

6 7 8
]

C = [
1 2 −3

4 5 6
]

2A + B = 3C

78. Let  


Apply elementary transformation 

in the matrix A.

Watch Video Solution

A = [
2 4

−1 1
]

R1 →
R1

2

https://dl.doubtnut.com/l/_2zn3HT37xPpp
https://dl.doubtnut.com/l/_tS1SSRbWA2hE
https://dl.doubtnut.com/l/_CgCOB1zGbAZQ


79. Let  


Find the inverse of A by elementary

transformation.

Watch Video Solution

A = [
2 4

−1 1
]

80. Consider the matrix  


Find 

Watch Video Solution

A = [
3 1

−1 2
]

A2

https://dl.doubtnut.com/l/_CgCOB1zGbAZQ
https://dl.doubtnut.com/l/_jZYglDbPOlvf


81. Consider the matrix  


Find k so that 

Watch Video Solution

A = [
3 1

−1 2
]

A2 = kA − 7I

82. Consider a  matrix 

 where  

Write A

Watch Video Solution

2 × 2

A = [aij] aij = |2i − 3j|

https://dl.doubtnut.com/l/_qe2AX6MUrmGT
https://dl.doubtnut.com/l/_EXT9sEKEh85l


83. Consider a  matrix 

 where  

Find 

Watch Video Solution

2 × 2

A = [aij] aij = |2i − 3j|

A + AT

84. If  then 


Find 

Watch Video Solution

A = [
3 1

−1 2
]

A2

https://dl.doubtnut.com/l/_j1rVLUjRb2En
https://dl.doubtnut.com/l/_2py3w4ZsyWaW


85. If  then 


Hence show that 

Watch Video Solution

A = [
3 1

−1 2
]

A2 − 5A + 7I = 0

86. If a matrix  is a solution of

the equation  , find any one

value of x.

Watch Video Solution

A = [
3x x

−x 2x
]

x2 − 5x + 7 = 0

https://dl.doubtnut.com/l/_GAL4ZmuD7KwM
https://dl.doubtnut.com/l/_ybkq7SCNKNFB


87. Consider the matrices 

 and  


If  , find the values of a,b,c,d

Watch Video Solution

A = [
1 −2

−1 3
] B = [

a b

c d
]

AB = [
2 9

5 6
]

88. Consider a  matrix  , where 

 


Write A

Watch Video Solution

2 × 2 A = [aij]

Aij =
(i + 2j)2

2

https://dl.doubtnut.com/l/_tUikY0LPVVdJ
https://dl.doubtnut.com/l/_YeIgYa7Q3Mtr


89. Consider a  matrix  , where 

 


Find 

Watch Video Solution

2 × 2 A = [aij]

aij =
(i + 2j)

2

2

A + AT

90. If  and 

 then 


Find X and Y.

Watch Video Solution

X + Y = [
7 0

2 5
]

X − Y = [
3 0

0 3
]

https://dl.doubtnut.com/l/_O55lD41vqERY
https://dl.doubtnut.com/l/_jYJOdjuTnM6E


91. If  and 

 then 


Find  .

Watch Video Solution

X + Y = [
7 0

2 5
]

X − Y = [
3 0

0 3
]

2X + Y

92. If A,B are symmetric matrices of same order

then  is always a 

A. Skew-Symmetric matrix

B. Symmetric matrix

AB − BA …………….

https://dl.doubtnut.com/l/_07qxMfGxsKCp
https://dl.doubtnut.com/l/_vmfc7MTXm6im


C. Identity matrix

D. Zero matrix

Answer:

Watch Video Solution

93. For the matrix  , verify that

 is a symmetric matrix.

Watch Video Solution

A = [
2 4

5 6
]

A + AT

https://dl.doubtnut.com/l/_vmfc7MTXm6im
https://dl.doubtnut.com/l/_qA8CrVUQzucx


94. Consider the matrix  


Find 

Watch Video Solution

A = [
3 −2

4 −2
]

A2

95. Consider the matrix  


find k so that 

Watch Video Solution

A = [
3 −2

4 −2
]

A2 = kA − 2I

https://dl.doubtnut.com/l/_4xUladF8AoDi
https://dl.doubtnut.com/l/_C0u5zEBU11bc


96. find the value of x and y from the

equations 

Watch Video Solution

a[
x 5

7 y − 3
] + [

3 −4

1 2
] = [

7 6

15 14
]

97. Given  , 

 


Show that 

Watch Video Solution

A =
⎡
⎢
⎣

1 2

3 −1

4 2

⎤
⎥
⎦

B = [
−1 4 −5

2 1 0
]

AB ≠ BA

https://dl.doubtnut.com/l/_To7pzLuuKV1I
https://dl.doubtnut.com/l/_2gyd6TBKU3A9


98. Find a,b matrix  is skew

symmetric matrix .

Watch Video Solution

⎡
⎢
⎣

0 3 a

b 0 −2

5 2 0

⎤
⎥
⎦

99. Express  as the sum

of a symmetric and a skew symmetric matrix .

Watch Video Solution

A =
⎡
⎢
⎣

7 3 −5

0 1 5

−2 7 3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_2gyd6TBKU3A9
https://dl.doubtnut.com/l/_jZCj7JTKNGth
https://dl.doubtnut.com/l/_co3r2UPLCw55
https://dl.doubtnut.com/l/_JtSXEaFEDwah


100. Consider the matrices 

 and  


Find matrix B

Watch Video Solution

A = [
2 −6

1 2
] A + 3B = [

5 −3

−2 −1
]

101. Consider the matrices 

 and  


Find matrix AB.

Watch Video Solution

A = [
2 −6

1 2
] A + 3B = [

5 −3

−2 −1
]

https://dl.doubtnut.com/l/_JtSXEaFEDwah
https://dl.doubtnut.com/l/_9HNgIoyMlX5x
https://dl.doubtnut.com/l/_7j6jjsb8hzBn


102. Consider the matrices 

 and  


Find the transpose of B.

Watch Video Solution

A = [
2 −6

1 2
] A + 3B = [

5 −3

−2 −1
]

103. The value of k such that matrix 

is symmetric if

A. 0

B. 1

C. -1

[
1 k

−k 1
]

https://dl.doubtnut.com/l/_7j6jjsb8hzBn
https://dl.doubtnut.com/l/_2pLOWQwQXrKz


D. 2

Answer:

Watch Video Solution

104. If  then prove that 


Watch Video Solution

A = [
cos θ sin θ

−sin θ cos θ
]

A2 = [
cos 2θ sin 2θ

−sin 2θ cos 2θ
]

105. If  , then find A = [
1 3

4 1
] ∣∣3A

T ∣∣

https://dl.doubtnut.com/l/_2pLOWQwQXrKz
https://dl.doubtnut.com/l/_K2M5pUquTydN
https://dl.doubtnut.com/l/_NztxnhXbCCVy


Watch Video Solution

106. Let A be a matrix of order  whose

elements are given by  


obtain the matrix A.

Watch Video Solution

3 × 3

aij = 2i − j

107. Let A be a matrix of order  whose

elements are given by  


3 × 3

aij = 2i − j

https://dl.doubtnut.com/l/_NztxnhXbCCVy
https://dl.doubtnut.com/l/_sPDtZ8M5xqjq
https://dl.doubtnut.com/l/_X8LNLXx2IkH4


Find  Also express A as the sum of

symmetric and skew symmetric matrix.

Watch Video Solution

AT

108. Consider a  matrix  with 


 


Construct A.

Watch Video Solution

2 × 2 A = [aij]

aij = 2i + j

https://dl.doubtnut.com/l/_X8LNLXx2IkH4
https://dl.doubtnut.com/l/_UZXT2QL7OdMF


109. Consider a  matrix  with 


 


Find  , 

Watch Video Solution

2 × 2 A = [aij]

aij = 2i + j

A + AT A − AT

110. Consider a  matrix  with 


 


Express A as sum of a symmetric and skew-

symmetric matrix.

Watch Video Solution

2 × 2 A = [aij]

aij = 2i + j

https://dl.doubtnut.com/l/_GsLXX22VpyUx
https://dl.doubtnut.com/l/_RPBBG2aZ8ePj


111.  ,  , 


then 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A = [
0 1

0 0
] B = [

0 1

0 0
]

BA = ……………

[
1 0

0 1
]

[
0 1

1 0
]

[
0 1

0 0
]

[
0 0

0 0
]

https://dl.doubtnut.com/l/_RPBBG2aZ8ePj
https://dl.doubtnut.com/l/_QAkd6ZxOBXoh


112. Write  as the sum of a

symmetric and a skew symmetric matrix.

Watch Video Solution

A = [
3 5

1 −1
]

113. Find the inverse of 

Watch Video Solution

A = [
2 −6

1 −2
]

114. If the matrix A is both symmetric and

skew-symmetric , then A is a 

https://dl.doubtnut.com/l/_AP1JSqD5cCcP
https://dl.doubtnut.com/l/_vjiM0K1oy8L5
https://dl.doubtnut.com/l/_7EG4A76psaPz


A. diagonal matrix

B. zero matrix

C. square matrix

D. scalar matrix

Answer:

Watch Video Solution

115. If  , then show that ,A = [
1 3

−2 4
]

A2 − 5A + 10I = 0

https://dl.doubtnut.com/l/_7EG4A76psaPz
https://dl.doubtnut.com/l/_1xXcIGuoYujo


Watch Video Solution

116. If  


Hence find 

Watch Video Solution

A = [
1 3

−2 4
]

A− 1

117. The number of all possible  matrices

with entries 0 or 1 is

A. 8

B. 9

2 × 2

https://dl.doubtnut.com/l/_1xXcIGuoYujo
https://dl.doubtnut.com/l/_Ehq1vSxvhNET
https://dl.doubtnut.com/l/_BjAO6cVbGsNg


C. 16

D. 25

Answer:

Watch Video Solution

118. If the area of a triangle whose vertices are

(k,0), (5,0), (0,1) is 10 square units then find k .

Watch Video Solution

https://dl.doubtnut.com/l/_BjAO6cVbGsNg
https://dl.doubtnut.com/l/_CFdm2Pq90295


119. Using elementary transformation find the

inverse of the matrix 

Watch Video Solution

[
2 1

1 1
]

https://dl.doubtnut.com/l/_prz8Ud6omrlH

